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Eleven Plus Maths Worksheet - Multiplication

QUESTION
VAG 87 x4 =
I %
£LFA (a) 312 (b) 348 (c) 390 (d) 592
HINT
87 x4-=
There are two ways of setting down this sum:
(@) The quickest and easiest way is o multiply horizontally.
87 x4 = 348
(b) The other way is to set the sum down like this:-
87
x_4
348
It is wise to learn to multiply quickly and easily horizontally when you have only one
figure in the multiplier, or if you are using the 12 times table or multiples of 10 (10,
20, 30 and so on).
ANSWER
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